Quarterly report for __INTEL 3Q 2012  

Date:
11/17/2012
Percentage change in Sales from year ago quarter -5.45%_

Percentage change in Earnings per Share from year ago quarte -10.77%
Is company meeting our target sales & earnings estimates SSG? _no __
Pre-tax Profit on sales trend?   (up, even, down)  down
Return on equity trends?  (up, even, down)  down
Debt?  (up, even, down) down
Current P/E ratio is 8.8
 Where does the P/E fall in my estimated High/low range of PE's? _low_
Signature PE is_________

Club cost basis for this stock is  $21.33/sh____.         Current price is  $20
Has stock met S&P's 12-month target price from a year ago? no
Current fair value:  Morningstar $27    S&P  $23
My SSG Total Return is  negative cash dividendProjected Average Return is ___________

What will drive future growth? 
Stronger PC Demand and improving economy.  Step up in supplying smartphone and tablet processors. Recently acquired antivirus and security software maker McAfee in 2011 will help. Future growth will come from server processor segment as the trend toward cloud computing will require substantial build-outs using Intel processors.
Additional comments:

Semiconductor industry is cyclical, will cause financial performance to fluctuate.  Intel must maintain its technology lead in microprocessor market.  Must work on sales to ultrabooks,tablets and smartphones.  Counting on Windows 8 . 
Recommend: Buy XX  Hold ____, Challenge with a better investment ___, Sell____.

